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And she is fit for him M’D’ohraisoh — b ROt IRATINTSAY

Overview

"WX 17 explains that the 109 of WX NWX NX AR WK ©°x),> from which we exclude
Top NWR, 1s where the v (who was nine years old) was a 02’ and he had relations
with his 12>, anyone who has relations with the iin2° afterwards is exempted from
nnn, since she is an WP NWX. The reason we require a P09 is since X1 XNPIIRTA
7% and 7% 1082, we would have thought that she is an w*X nwX. There is a dispute
between >"w1 and MooIN as to the meaning of 72 X111 RNMRTA.

- °nY XPVIYY *AYY NXIPY 927 Y95 AN NN 1Y NPIPTT ‘DI0Pa W
“''w explained the meaning of % X°m Xn>7K77, for she is assigned to him, and
his 18°2 is considered a 78°3 for all matters, and the J0p acquired her to inherit

her and to become X»v to her -
- IINID N2 YY NAY 70 )2 (0 91 21) )INTD

As we learned in a mw»; ‘a nine year old who had relations with his 77229, he
acquired her’ (as his wife). This concludes >"wAs.

nooIN asks:
- 71’rm‘n 1 NYHOIDYY 19291 NIYN ION DT v,

And there is a difficulty with >"w29; for this 71w, which states X3P, is only J1397%

that he acquires her, and it is for the purpose to invalidate her from the brothers -
- 59133 79015 70 13 NNOA WYY (3,9 47 3y N9 NYNNA )Nt

As we learnt in 7739 7wWR? P79, ‘they made the 118°2 of a nine year old by a 7»2,

" The text in our X3 reads; XN» IR (instead of RnN™MRTAI).

25 5 (@) RPN

® The 70 had a married older brother who died without children, the Jup was %312 the n2° (his sister-in-law), the rule
is that she is not considered an >R nWX (as she would have been had the 02> been a 7173), and whoever lives with her
is not 71" 2, for she is merely considered an 9 NWX.

4 RNPIIRTAT 772

S If the 7n2° dies the JuP inherits her.

% If the 0P is a 1779, he may be Rnvn to the 12° at her funeral (even when he is a 7173 and had no additional relations
with her [except for this one 7iX°2 when he was a J9p]).

7 She is considered his wife (only) regarding the other brothers, who initially after her husband passed on, could
have been 02 her; however once the Jvp was 7°2¥ X3, they no longer can be 02>» her (all this is 112777).

8 In our MM it is a kA2 on X,7%, and on 2,%¥ there is a NPY7nn between 21 and YX7w whether 91732 KR "0 12 DR WY,
? A qnxn (or statement) refers to the 13277 PwITP which the 02 gives to the 2. The 7m0 way of the 02° acquiring
the 7n2 as a wife is only through 7%°2; however the 0mdn instituted that he should be w7pn her first with q02; this is
called 2nxn. The 7mR» accomplishes that the other brothers can no longer be 03> (or y211) her. It also accomplishes
that the 2nmXn71 5v2 must give her a va (also, besides 7%°%n) if he changes his mind and decides not to be 02 her.
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equal to a "»X» by an adult -
= INYNI NI RY D927 INVUDY NYWYY HaN

However the 712’ is not considered the s'1vp wife regarding inheriting her or
for other matters; the same as by .

mooIn offers his interpretation of % X1 RN™IRTA:
= 91 025D NPDVY 1D NNRYYA 1D NOTH NNMNINTNT D NN 199

And therefore it seems to nN1501n that she is potentially fit for him 79107 3%, for

instance if he, the 22, was a "17a -
- Y15 5y DI NNNAY NNy Han HAR HY X2 DONRY 92199 AN 1NN DT JVP)

And additionally the 78°2 of this Jup is considered a 78°2, meaning that if he
had relations with any of the nay mentioned in the 7, they would be

executed on account of his nx"a, therefore on account of all this -
= 9995 NNIINTII DININ NNINT 1N

We may have thought that since Xn>» X712, etc. she will eventually be fit for him and
his 7X"2 is an effective nX*2 -
= INYND NAIYN RNMIINTH NN NN NY0YNT RIP IND IND ON 9995

Meaning that if not for this 105 of v X NWX nNX AXI° WX, which excludes jup NWK,

I would have thought that she is considered his wife 191872, and whoever lives

with her is committing adultery and should be executed, therefore the 105 -
= 19299 NN NAIN NNP IINY 1D ¥yHYN XP

Comes to teach us that he only acquires her 312972, she is not his lawful wife 707 72 -
199732 9NN 7V )2 NN VY (ov) XYY 13>90NTD

As we say elsewhere they made the 1%°2 of a nine year old in his 712’ like a
2%R% by a 9173 to his 2.

Summary
According to °"w7 a v 72 UP DX is ANp his XNMMRTA 702, while according to

moo1n he is 7P her only 112772.

Thinking it over
According to "1 that the 9P is P the N>R 772°, why indeed is the adulterer

79, and according to MdOIN that the 1P is not 712 the XN»MXTH 7127, how is she
considered Jup nwxN'!

10 nymw are the incestual relations mentioned in the 770, such as a father and daughter, (including also adultery, and
other forbidden relationships). If a nine year old was ¥12 his mother consensually, the mother would be executed.
' See mwn nbm1 and Xyn MR A7 o N0,
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